TRIGONOMETRY L 2

aSing + b(s@ inlo  compownd C‘Af}(e Lom -
= 1}

\) Solve C’ci e < 3600
L}»S‘m& = COS@ = 2

1)0) Express 4 Sinxe + 3 Cosx in the form R Sin e +-o() X 1 acte

b) Henw find bhe Swaﬁéu" valw of {
_ 4 Sinx +3Cosz +71

3) Solve in Hu nge O ¢x ¢ 3&00
It Cos@ +2Sin@ = 3
#) @) EXPr@SS 3Cosx + 28inx 34 Hae form RCQ:’;(’){,—'X) , 0% <90
b)  Sole in Phe fudge 0" b 360°
3lsx + Wiax = |
5> cx) Expregs Cos@ + J3sin@ in the form RCOS(O —o<') x h-acte .
b)  Solve 0" ¢6& <3607
Cos® +J3Sin@ = |
b) a) Rxpress  5Sinx — 120osx in fhe fOI’M /?S'm(x*d) 2 /4’1>0l and X acule

b) Henwe fnd the  least value ofF l
5Sinx - 126sx + 20

(orile down a vake for x  for which Fhis Jeas value  occurs
7) a) Ripress  TCosG + A4k SinG i Fhe  form R(os(e—x) , Ko X i atabe.
b)  Henw solve 0@ < 360°
Ths8 +ausing = 6
8> «) Exprcss Ui5(05€@ ~ Sin@  jn the )Conn /?Cbs(xqto() , X 0 acube
b) Heae sole in e mmge 07 fo Sk0°
Vs (& -Sin@ = 3



’“) «) Express 8 Sax + 15 Gosx  n fhe fom R Sia (x“() ) 0%K290°
b) LGd  all va/ues‘ of xt o /o 5606/ sa//“:[j,yc
8Sinx + ISCsx = I
¢) fird e y‘recu‘eo/ value /b5$/b/e for k  such that
©Sinx + ISGsx = K

has  solukiens . ﬁi”ve A rasm /'(, Yo answer.
7 (

io> Skelch 9-.‘&[)%5 of
d) = 35inx + L Cos x JZj USif\lﬂ cempouvnd &/ﬁ/es
b) y-= 12 Cosx = BSinx



